

vector

11/6/2007

$$|\langle u|v \rangle|^2 \leq \langle u|u \rangle \langle v|v \rangle$$

Schwarz  
remember

(8.19)  $\vec{a}, \vec{b}$

operator

$$\langle (A^2) \rangle \langle (B^2) \rangle \geq \frac{1}{2} |\langle [A, B] \rangle|^2$$

(7.12)  $f, g$

(19.38)

$$\langle (A^2) \rangle \langle (B^2) \rangle \geq \left(\frac{1}{2} \langle [A, B] \rangle\right)^2$$

linear operator on vector spaces.

space  $\rightarrow$  periodic functions  $[0, 2\pi]$

$$L = -i \frac{\partial}{\partial \theta}$$

$$\langle \psi | \psi \rangle = \int_0^{2\pi} d\theta \psi^*(\theta) \psi(\theta)$$

$$\langle \psi | L \psi \rangle = \int_0^{2\pi} d\theta \psi^*(\theta) \left(-i \frac{\partial \psi}{\partial \theta}\right)$$

$$= \int_0^{2\pi} d\theta \left[-i \psi^* \psi\right]_0^{2\pi} - \int_0^{2\pi} d\theta \left(-i \frac{\partial \psi^*}{\partial \theta}\right) \psi$$

$\psi$  periodic

$$= + \int_0^{2\pi} d\theta \left(-i \frac{\partial \psi^*}{\partial \theta}\right) \psi = \langle L \psi | \psi \rangle$$

$L^\dagger = L$  self adjoint.



Eigenvalues

$$L\psi = \lambda\psi = -i\hbar \frac{\partial\psi}{\partial\theta} \quad \frac{\partial\psi}{\partial\theta} = i\lambda\psi$$

$\psi = e^{i\lambda\theta}$  not done yet.

$\psi$  periodic  $\Rightarrow$   $\lambda$  real (self-adjoint)

period =  $2\pi \Rightarrow \lambda = \text{integer} = m$

$\psi_m = c \cdot e^{im\theta}$

Normalized:  $\langle\psi_m|\psi_m\rangle = \int d\theta c^* e^{-im\theta} c e^{im\theta} = 2\pi |c|^2$

$|c|^2 = \frac{1}{2\pi}$

$c = \frac{1}{\sqrt{2\pi}}$

$\psi_m = \frac{1}{\sqrt{2\pi}} e^{im\theta}$

$$\langle\psi_m|\psi_n\rangle = \int d\theta \cdot \frac{1}{\sqrt{2\pi}} e^{-im\theta} \frac{1}{\sqrt{2\pi}} e^{in\theta}$$

$$= \frac{1}{2\pi} \int d\theta e^{i(n-m)\theta} = \underline{\underline{\delta_{mn}}}$$



3

$$\{ e^{im\theta} \} \leftrightarrow \{ \sin m\theta, \cos m\theta \}$$

$$m = \dots, -2, -1, 0, 1, \dots$$

$$m = (0), 1, 2, \dots$$

particularly nice set of basis functions

$$\sum_{k=-\infty}^{\infty} c_m e^{im\theta} = c_0 + \sum_{m=1}^{\infty} (c_m e^{im\theta} + c_{-m} e^{-im\theta})$$

$$= c_0 + \sum_{m=1}^{\infty} c_m (\cos m\theta + i \sin m\theta) + c_{-m} (\cos m\theta - i \sin m\theta)$$

$$= c_0 + \sum_{m=1}^{\infty} \overset{2c_m}{(c_m + c_{-m})} \cos m\theta + \overset{2i c_m}{(c_m - c_{-m})} \sin m\theta$$

## Chapter 12

$$f(x) = \frac{1}{2} a_0 + \sum_{r=1}^{\infty} (a_r \cos r\theta + b_r \sin r\theta)$$

(12.4)

$L=2\pi$

else  $\cos \frac{2\pi r x}{L}$

(4)

Some integrals :

$$\int_0^{2\pi} \sin nx \, dx = \left[ -\frac{\cos nx}{n} \right]_0^{2\pi} = \frac{1 - \cos 2\pi n}{n} = 0$$

$$\int_0^{2\pi} \cos nx \cdot dx = \left[ \frac{\sin nx}{n} \right]_0^{2\pi} = 0$$

$$\langle \sin nx \rangle = \langle \cos nx \rangle = 0$$

} one period  
 } several periods  
 } Large interval  $\frac{1}{T} \rightarrow 0$

$$\cos(a \pm b) = \cos a \cos b \mp \sin a \sin b.$$

$$\cos a \cdot \cos b = \frac{1}{2} [\cos(a-b) + \cos(a+b)]$$

$$\sin a \cdot \sin b = \frac{1}{2} [\cos(a-b) - \cos(a+b)]$$

$$\int_0^{2\pi} \cos mx \cdot \cos nx \cdot dx = \frac{1}{2} \int_0^{2\pi} [\cos(m-n)x + \cos(m+n)x] dx$$

$$= \begin{cases} 0 & m \neq n \\ \frac{1}{2} \cdot 2\pi & m = n \end{cases}$$

$$\int_0^{2\pi} \sin mx \cdot \sin nx \cdot dx = \begin{cases} 0 & m \neq n \\ \frac{1}{2} \cdot 2\pi & m = n. \end{cases}$$



⑤

$$\textcircled{u=4} \quad \cos^2 x = \frac{1}{2} (1 + \cos 2x)$$

$$\sin^2 x = \frac{1}{2} (1 - \cos 2x)$$

$$\langle \cos^2 x \rangle = \langle \sin^2 x \rangle = \frac{1}{2}$$

$$\sin a \cdot \cos b = \frac{1}{2} (\sin(a+b) + \sin(a-b))$$

$$\langle \sin x \cos x \rangle = \langle \sin 2x \rangle = 0$$

given:  $f(x)$

$$\text{let } \bar{f}(x) = \frac{1}{2} a_0 + \sum_{n=1}^{\infty} (a_n \cos nx + b_n \sin nx)$$

$$\text{let } Q^2 = \int_0^{2\pi} dx [f(x) - \bar{f}(x)]^2$$

choose  $\{a_n, b_n\}$  to minimize  $Q^2$ .

$$\frac{\partial Q^2}{\partial a_0} = \int_0^{2\pi} dx [f - \bar{f}] \left(\frac{1}{2}\right) \cdot 2$$
$$= \int_0^{2\pi} f(x) dx - \frac{1}{2} a_0 \cdot 2\pi$$

$$\frac{1}{2} a_0 = \frac{\int_0^{2\pi} f(x) dx}{2\pi} = \langle f \rangle$$

⑥

$$\frac{\partial^2}{\partial a_n^2} : \int_0^{2\pi} dx \cdot (f - \bar{f}) \cdot 2 \cdot \cos nx \rightarrow 0$$

$$\int_0^{2\pi} dx f(x) \cos nx = \int_0^{2\pi} dx \left( \frac{1}{2} a_0 + a_n \cos nx + \dots \right) \cos nx$$

$$= \frac{1}{2} \cdot a_n \cdot 2\pi = \pi a_n$$

$$a_n = \frac{1}{\pi} \int_0^{2\pi} dx \cdot f(x) \cdot \cos nx$$

same formula  
works for  $a_0$

$$b_n = \frac{1}{\pi} \int_0^{2\pi} dx f(x) \sin nx$$



7

$$f(x) = \begin{cases} +1 & x > 0 \\ -1 & x < 0 \end{cases}$$

$$a_0 = \frac{1}{\pi} \int_{-\pi}^{\pi} dx f(x) dx = 0.$$

$$a_n = \frac{1}{\pi} \int_{-\pi}^{\pi} dx \underbrace{f(x)}_{\text{odd}} \underbrace{\cos nx}_{\text{even}} = 0.$$

$$b_n = \frac{1}{\pi} \int_{-\pi}^{\pi} dx f(x) \sin nx$$

$$= \frac{2}{\pi} \int_0^{\pi} dx \cdot \sin nx dx = \frac{2}{\pi} \left( -\frac{\cos nx}{n} \right)_0^{\pi}$$

$$= \frac{2}{\pi} \left[ -\frac{\cos n\pi + 1}{n} \right] = \frac{2}{\pi n} (1 - (-1)^n)$$

$$= \begin{cases} \frac{4}{\pi n} & n \text{ odd} \\ 0 & n \text{ even} \end{cases}$$

